AP Calculus AB
Continuity Worksheet
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State whether or not each of the following functions is continuous. If not, state where the discontinuity
occurs and whether or not it is removable. Is the discontinuity is an asymptote, a hole, or a jump? If it is an

asymptote, what is its equation?

1)f@0:x;;1

* Conhnuoul

2x +3 Ix+>
) FX)=—F——= — .
) 71x) —x-6 (x-3XxXrz2 )
x not Cuﬂ*’rmu@@) ot X=3 and x=-2
VA©Xx=3,X="2
{ non-rerovalble )

2
5) 2:; if x %3
fx)=
8 ifx =3
XZ C} ( x %%,X&ii) /X+§)
- ~ZZ;;~
hae (3,1)

(e € ¢ LSCer num\f )
*Y’\DT CD)"’T\Y}\,\D‘V»_S‘ T X :3

7) x3 if x <-1
f(x) = X if-1<x<1
1-x if x 21
FE)=-] fir’ﬁtjco\)::ml hm _ g6
, x> x>")
’W“ Sw="1 ﬁﬁ(fc)z"/
(ofmnuou) o x=-|
fw=0 ;gfﬁg:dnf
Xf":;j:(x):j ‘;21%0: o N(Zj;w

X

2) f(x)= 1

. X
X1\ X x~1)
* NOT CoNbNUOUS oF x= & & X=|
e v~ =L
VA X= % L X =]
(non-removelie )

4)ﬂxy- S fo L
Fo16 (xrqdxo4) Xy
*NOT  Canbnuous o X<==Y g %=1
VA x = -4 (non-remiovalne )
hoe: (4 ) éf) (remoob)e )

6) 2x -3
F(lx)=

if x <2

X if x>2

'H”V) ‘;L(X> dﬂc

JC(Z):ZCZD‘J X=>2

fl2) = | I

i . b
P N L S ¥ A0

SInce I £ does N exst, £ IS

Not COim%Lom ofF X=2 M)
o duorrhm“
) £ =17 Liorme

¥ noT Carhnowd af x=3 4 x= -3

VA x=3,x="3
(non - remumbié)

LA NoT CoYhn Lo
domnuis)



Find the value of “a” and/or “b” for which the function is continuous.
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Are the following functions continuous at all points in the natural domain? If the function is not continuous,
what kind of discontinuity exists? Rewrite the function to make it continuous.
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